JL_

Vertical Division

Solve each problem.

1)

2[203

4)
91800

7)
4789

2)

2[223

5)
51633

8)
5|1989

3)
4971

6)
8|110

9)
31445

Answers
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Vertical Division Name: Answer Key
Solve each problem. Answers
) 101r1 2 111r1 3 24213 . 101r1
2[203 2[223 40971 |
2 2 8 2 111r1
00 02 17
0 2 16 3. 242 r3
03 03 11 . 88r8
2 2 8
1 1 3 5. 126 r3
6. 13r6
4) 88r8 5 12613 6) 1316 n 7
9[800 5633 8[110 s 19714
0 5 0
80 13 11 o._ 148711
72 10 8
80 33 30
72 30 24
8 3 6
N 197r1 8 197r4 9 148n
4789 5989 3[a45
4 5 3
38 48 14
36 45 12
29 39 25
28 35 24
1 4 1
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Vertical Division

Name:

Solve each problem. Answers
111 r1 13 r6 126 r3
148 r1 197 r4 197 r1 1.
242 r3 88 r8 101 r1
1) 2) 3) z
2|1203 21223 41971 3
4,
5.
6.
7.
8.
4) 5) 6)
91800 5633 81110 .
7) 8) 9)
41789 5989 3445
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